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Instructions : Answer ALL questions from Section — A and THREE questions from
0O
Section-B. |3
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* SECTION-A (10x3=30)

0%
Note: (i) Ansvs;rfe;r ALL the questions.

(i) Each question carries THREE marks.

1. ft={(1, 2), (2, =3), (3, 1)} then flL(;ld

N
pof e i+ EEE 5
mes -

':g

2 4 by
2. If A= and A? = 0 then find k.
-1 k ﬁ

TETese

3. Showthat lim I |+x+1 =13.
x—0* N

' o

1 n

f | 4. Iff(x) = 2x2 + 3x — 5 then prove tﬁ?t '(0)+ 3f'(-1) = 0.

!\,

i | 5. Find the equation of Locus of aJ,point P such that the distance of

twice the distance of P from A(1 2) Jj@

- P
P b e

P from the origin is

6. Find the value of P if the stralght linesx+P=0,y+ 2 s 0 and 3x + 2y + 5 = 0 are
concurrent.
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7. Find X' if the distance between (5, —1;'1*‘}' and (x, 5, 1) is 9 units.

9. Find the value of sin 82:2 — sin? 225.

<368

PeL

. If sinb= g and 6 does not lie in the fir§} quadrant then find the value of cos 6 .

& EjE
£

10. Prove that (coshx + sinhx)"= cosh nx + sinh nx.

11. )

1004

RS ifx=0
12. i) a) Show that f(x) = ] £ N where a and b are reg| constants, is f
S0 - &) iix=0
continuous at 0, % §
b) Differentiate e* with respect t&& . gﬁﬁ] i'
OR . ESR :

SECTION - B (3x15=45)
Note: (i) Answer AﬁY THREE questions.
(i) Each quecé:'tion carries FIFTEEN marks.

a) Solve the following system ofrequatlons using matrix inversion method.

X=y+3Z=54x+2y - z_Q;:x—x+3y+z 5.

i
b) Find the area of the parallelogfam whose diagonals are 37+ 7 j - 2k and

i-3f j +4k. N
N
OR o
I
1 1 1 &

i) a) Showthat|a b c|=(a }'ﬁ)) (b-c) (c-a).
a2 p? ¢2 ®

b) Find the vector equation of thpplane passing through the points
i- 2j +5k, —5] kand -3i +§j

g g 2T

o o
b b

Ccos ax - ¢cgs bx
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15.
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a)

b)

b)

Ify=tan‘1(
]
dy__1

dx 1+x2

N
Find the circumcentre of the triandle whose vertices are (-2, 3), (2, —1) and (4, 0).

2X -1
> +tan
- X

1—6x2+x

s

("n

Transform the equation 4x — 3y + F2=0into
a) Slope-intercept form
b) intercept form

OR

PELCCHR

3 4.3
=X | _jan | == | then prove that
1=3x2 4

. T
Find the equation of tangent and normal to the curves x = cost, y = sintat t = 2

0
©

Show that the two pairs of lines 3x2+ 8xy—3y?=0and 3x®+8xy =3y +2x—4y—1=0

form a square.

Show that the points (2, 3, 5), (- 1 5 —1) and (4, =3, 2) form a right angled

isosceles triangl

e.

Find the value of sin?

If A+ B + C = 180° prove that sjij 2A + sin 2B + sin 2C = 4 sinA sinB sinC.

OR

If A + B = 45° then prove that (

Ifcos® +sind =

lfa=6i +2] j+3k andb =2 l-g j + 6K, then find the angle between the

vectors a and b.

;4
I rsin?2E 4 sin

Bt

’-u-v.-

‘\

\3
=i
{23

PEL

Tor tan A) (1 + tan B) = 2. GEe

ceb

G\l

(0%}
Find the angle between the curves y? = 8x, 4x2 + y2 = 32,

OR

©
A straight line through Q(+/3, Eﬁgmakes an angle of ™

(o]

6

V2 cos 6 th%r)a prove that cos 6 —sin® =/2sing .

with x-axis in positive

direction if the straight line mtersects the line /3 x - 4y +8=0 at P. Find the

distance PQ.

If sina =
\/_.

and sinf =

1

5
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B n
Ufo <a, B<E then show that a+p ==

(3]

4
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12. i) a) a,ben TS ?gc"oswo 000D (HR2050 f(x) =< § .
Tb2-22), x=0 @003

cos ax - cos bx
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13. 1) a) (-2,3),(2,-1), (4,0) & BoeurT Ko ®ebeso :ae‘éogo E308%08.
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b) 4x-3y+12=0 K)ib§<5£’;°?0&
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